rte — B

Parts Catalog

10 - BODY

© Tesla Inc. Compiled by @lqgtidarAlii - http://www.xautoworld.com/tesla SVGs by: u/nbadal & u/g-ff High-Res PNGs by:
u/Balance- via: r/teslamotors. Images @ 300 DPi Print Ready - Source: https://epc.teslamotors.com  "United States Version"




1001 - Bumper And Fascia

> Front Bumper Carrier

O, A
g N
==

# 2ALT PART NUMBER UNIT PRICE () QUANTITY

1 COMP, FR END CARRIER, M3 1110240-00-B Contact Tesla 1

2 REINF - FASCIA FRT CTRUPR TO FEM RH, 1084170-00-B Contact Tesla 1
M3

3 REINF - FASCIA FRT CTRUPR TO FEM LH, 1084169-00-B Contact Tesla 1
M3

© Tesla Inc. Compiled by @lqgtidarAlii - http://www.xautoworld.com/tesla SVGs by: u/nbadal & u/g-ff High-Res PNGs by:
u/Balance- via: r/teslamotors. Images @ 300 DPi Print Ready - Source: https://epc.teslamotors.com  "United States Version"




> Front Bumper Fascia

© Tesla Inc. Compiled by @IgtidarAlii - http://www.xautoworld.com/tesla SVGs by: u/nbadal & u/g-ff High-Res PNGs by:
u/Balance- via: r/teslamotors. Images @ 300 DPi Print Ready - Source: https://epc.teslamotors.com  "United States Version"




# PART

M3 FR FASCIA SVC

BRACKET - FASCIA SIDE TO FDR LH, M3

BRACKET - FASCIA SIDE TO FDR RH, M3

4 BOLT&WSHR,HX,M6x25,STL[9.8],ZNFL,CON,M

AT
2 BRACKET - FASCIA FRT CTR TO FDR RH, M?
€ BRKT - FASCIA FRT CTRTO FDR LH, \'3
/ SCREW TORX M5 x 12 TRUSS . 'EAL (T25)
8 Bracket - Frt Whilhse ' nt =#fnr LH, M3
9 Bracket - Fr* Wi,'hse Lnr Stiffnr RH, M3
10

SCR S." WS HR M5 X 20 ZnNi

117 RV T FUSH-PULL 8X18X20.0 (OM1M)

NUT HF M6-1.00X18 (ZnAl)

PART NUMBER

1084168-S0-E

1084181-00-E

1084182-00-E

1031683-00-B

10t *172-00-F

1084171-00-F

1011784-00-B

1104540-00-B

1104541-00-B

1012809-00-A

1006521-00-A

1006538-00-A

UNIT PRICE ()

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

Contact Tesla

QUANTITY

12

12

© Tesla Inc. Compiled by @IgtidarAlii - http://www.xautoworld.com/tesla SVGs by: u/nbadal & u/g-ff High-Res PNGs by:

u/Balance- via: r/teslamotors. Images @ 300 DPi Print Ready - Source: https://epc.teslamotors.com

"United States Version"



> Front Energy Absorber

#  PART PART NUMBER UNIT PRICE () QUANTITY

1
This part is restricted
1 M3S ASY, FR BEAM W 1117385-00-F Contact Tesla for use by your shop-
ENERGY ABSORBER contact Tesla with
questions.

ASY, ANKLE CATCHER, M3 1084894-00-B Contact Tesla 1

3 1104669-00-F Contact Tesla 1

© Tesla Inc. Compiled by @IgtidarAlii - http://www.xautoworld.com/tesla SVGs by: u/nbadal & u/g-ff High-Res PNGs by:
u/Balance- via: r/teslamotors. Images @ 300 DPi Print Ready - Source: https://epc.teslamotors.com  "United States Version"




Buy now
Tesla Model 3 Parts Catalof PDF

With Instant Download



https://www.epcatalogs.com/tesla-model-3-parts-catalof-pdf/
https://www.epcatalogs.com/tesla-model-3-parts-catalof-pdf/
https://www.epcatalogs.com/tesla-model-3-parts-catalof-pdf/

